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Which among the following district
receives highest :rainfall during
South-West Monsoon season ? 4

(2) Rajsamand
(3) Bharatpur
(4) Tonk

Dungarpur and Banswara has
largely —

(1) Gypsiferrous Soil

(2) Gray Brown Alluvial Soil

(3) Hilly Soil {
(4) Red Loam Soil

ACC Limited has its Cement unit
at

(1) Gotan (2) Lakheri
(3) Sirohi (4) Chittorgarh

As per 2011 Censué, the difference I
in male and female literacy in
Rajasthan-was approximately

(1) 23.4% "(2) 24.5%
3) 22% 4 27%

Disposable income is

(1) GDP - the capital
consumption allowance

(2) that portion of personal
income that can be used for
consumption and saving

(3) the sum of all payments to
suppliers of the factors of
production.

(4) another term for personal
income
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6. sThe consumption function shows
D a positive relat10nsh1p

I - between consumpftion rand
stock of wealth.

2) a positive relatlonship
between consumptlon and
disposable income.

3) a negative
between
savings.

4) a negative relationship
between consumption and
disposable income:

~relationship
consumption and

-

7. The term hyperinflation-refers to
(1) the spread of inflation from
' one country to other
:|| (2) a decrease in fhé ‘inflation
rate
| (3) a period of high inflation rates
, exceeding 50% per month
(4) a period of inflation with
falling rate by 25%. .

8. - Wilen

costs of raw material
increase, other things rem‘a’ining
the same
(1) the supply curve shxfts to the
left.
(2) the supply curve shifts to the
right.

(3) output increases regardless of
the market price and supply
curve shifts upward.

(4) output decreases and, the
market price also decreases.

9, Good with many close ‘substitutes
tends to have

(1) high elastic demand

(2) low elastic demand

(3) unit elastic demand

(4) perfect inelastic demand



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

10.

11.

12,

13.

GET IT ON
Google Play

T foalier Soile, el o et o
=1 T SIS ST SHHIT a1 hiTT are Saehl —

(1) Hara seEif seTE El |

(2) dmr=r S siae swEfar |
FHE |

(3) v IR wwE B |
(4) < ST ST El |

w falie ormEf & 4w Ik awd
T, $oT T | <G 8 S R 9 5

HEAME

(1) S s e
(2) ETHRI g2 ARy
(3) Hgicw awe

4) mﬂaﬁﬁm.

fefied § & w9 W M1 g R

i 7 R T
(1) SRR

(2) ﬁﬁ% (coins)

(3) G ST

(4) =% I = au1 e e T
LCiGH

T G5 7076 5 BN o

(1) o€ THIN-IIIT 10% 301 |
(2) ¢ T TR 20% B |
(3) RS IV ATUIT 50% X |
(4) ifiicr fod 500% W |

CE
‘i

13.

12,

A rational consumer will never
consume a unit of a good if its

(1) Marginal
diminishing.

utility is,

(2) Marginal utility is less than
average utility.

(8) Marginal utility is increasing.

(4) Marginal utility is negative.

When government spending is

"more than the total revenues

during a specific time period, this
is known as

(1) Government budget deficit

(2) Government budget surplus

3) Bzflgmced Budget
(4) Public Debt

Which of the following is NOT a
part of the M1 definition of money ?

(1) Paper Currency
(2) Coins
(3) Fixed deposits

(4) Chequable and debitable
accounts

The deposit multiplier is 5 when
(1) the cash reserve ratio is 10%
(2) the cash reserve ratio is 20%
(3) the cash reserve ratio is 50%

(4) excess reserves expand 500%
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If the Economy is 'under-utilizing.
its economic.resources, the Central
Bank should :

(1) discourage investment spending

(2) expand the money supply to
increase aggregate demand

(8) decrease money supply

(4) contract the money supply to
- decrease aggregate demand.

The observation which occurs most
frequently in a sample is the

" T (1) Mode

(2) Median
(3) Arithmetic Mean
(4) Standard Deviation

The Arithmetic Mean of 13
numbers is 24. If 3 is added to each
number, then what will be the new

Arithmetic Mean ?
(1) 25 2y 27
(3) 21 @) 24

If the Mode and Mean are given 30
and 85 respectively, find the
Median.

(1) 32 (2) 19

(3) 33.33 (4) 75

The Physical ‘Quality of Life Index
was invented by

(1) Joseph Stiglitz

(2) Amartya K. Sen

{(3) M.D. Morris

(4) Paul A. Samuelson

in which year National Policy for

Skill Development - and
Entrepreneurship was launched ?
(1) 2014 (2) 2015

(3) 2016 (4) 2017
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23.
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25.

Human Development Report is

published by which of the following ?

(1) World Bank

(2) International Monetary Fund

(3) World Economic Forum

(4) United Nations Development
Programme

. When was Sustainable Development
‘Goals adopted by UNO ?

(1) 2014
(3) 2012

(2) 2015
(4) 2013

What is the rank of RaJasthan in
the “India Innovation Index 2021

released by NITI Aayog ?
(1) 10th (2) 11th
(3) 12tk (4) 13th

Which of the’ following is also
called Green accounting ?

(1) Corporate Social Responsibility
(2) Forensic Accounting

(3) Environmental Accounting
(4) Corporate Accounting

Who among the following
propounded the entitlement theory
of Justice ?

(1) John Rawls

(2) Robert Nozick

(3) Plato

(4) Aristotle

Which one of the following types of
Authority is not descubed by Max
Weber ?

(1) Rational-Legal

(2) Traditional

(3) Charismatic

(4) Constitutional
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26, S Ry Tu F2 N T TR g« g | 26. Match the following using codes

Hiio : given bélow :
~ ) S (REs) i (Book) (Author)
A FARmd 1 seEnsRE A. OnLiberty i Isaiah Berlin
B. TwHiA<d ii. UH.G TEF B. Two Concepts ii. F.A. Hayek
i fereel {%g‘g of Liberty
C. sl Qe it UeEARE | &) Anarchy, State iii. Robert
g GEifEm % and Utopia Nozick
i D. gdegaben iv. TR DY The Roadto  iv. John Stuart
. = ﬁ Serfdom Mill
He: Godes :
A B ¢ D J A B C D
(1 v i 1 @ v i i il
@ dv i aiou : @ v i i i

3) i 1 iv i .. ..
EzJ;iviiiiii @ 4 i v i

@iviiiiii

. Peitra ¥ @ Terifes e & Yo
27 mgﬁgt;ﬁ ij[f;;w?ﬁ 3 27. Which of the following is not a
. w0l ? chpracteristic of Modern
(1) SIS T Pérspective of Political Science ?

(2) AW 3G
(3) aETaT = I
(4) HTER I =T |

(13} Empirical Study

" (2) Based on.Facts
(3) Study of Institutions
(4) Study of Behaviour

28, Tyt 3 & A0 R e - 28. Who among the following is the

g A, R, TS FIAGH 3 7 guthor of ‘Politics : Who Gets
(1) FEEFAHE (2) Wies T What, When, How' ?

@) Wesea (@) I wRH

. “amft TR AR @ § o Tl |
96 FawR, 1949 3. = vagg 3@ aRwm | 2%

Co| HAE
wﬁzﬁ-ﬁml _

¢y Abraham Kaplan.

2y Harold Lasswell

¢3» David Easton

() George Catlin .

In our Constituent Assembly this
twenty-sixth day of November,
1949, do hereby this
Constitution. ;

Till in the blank. with the words
fiskd in Preamble of the
sonstitution.

Adopt, Enact and Preserve

9} Protect, Defend and Enact
Adopt, Enact and give to
wy Ourselves

(4)‘ Preserve, Protect and Defend

-
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32.

In which one of the following cases,

the term “Federalism” is considered

as one of the basic structure of the

Constitution of India ?

(1) Keshavananda Bharati vs.
State of Kerala, 1973

(2) S.R. Bommai vs. Union of
India, 1994 €a)

(3) Minerva MillssLtd. & Others vs.
Union of India*& Others, 1980

(4) Central CodP Fields Ltd. and
Anr vs. Jaigwal Coal "Co. and
Others, 1980,y

Which of the following is not a part
of the process of impeachment for
the President of India ?

(1) President més be impeached

for  violafign of the
Const_itutionm

"(2) Impeachment? resolution
must be moved after at least *
fourteen d.s';f;s notice in

writing signed by not less
than one fourth of the total
members of the House.
Impeachment resolution must
be passed bi»é majority of not
less than twggthird of the total
membershipgf the House.
President miay be impeached
on grou of - proved
misbehaviour or incapacity.

3
(4)

Which of the following subject is
not included in the eleventh
schedule of the Gohstitution ?

(1) Women and Qﬁld development
(2) Public distriBltion system
(3) Family welf&e

(4) Fire services~d
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33. Which of the following arficle
permits the state to make

provision for the reservation of
appointments or posts in favour of

any backward class of citizens
which, in the opinion of the state,
is not adequately represented in
the services under the state ?

(1) Article 16(3)
(2) Article 16(4)
(3) Article 16(4A)
(4) Article 15(4)

84. Unilateral concessions by India
extended to the mneighbouring
countries during the 1990s was
called as :

(1) Look East Policy

1 (2) Gujral Doctrine
(3) Krishna Doctrine
(4) Look West Policy

. 85. Which of the following. statements

|

is" not correct about Directive

Principles of State Policy ?

(1) They are indispensable for
socio-economic  development
as they bestow responsibility
on the state.

(2) They may be defined as
moral percepts for the
authorities of the state..

(3) They have been borrowed from
the Constitution of Ireland.

(4) They impose a legal obligation

on the state authorities for

their implementation.

86. Who among the following Indian
» Prime Minister visited China for
first time after the 1962 War ?
(1) Lal Bahadur Shastri
(2) Indira Gandhi
(8) Rajiv Gandhi
(4) Morarji Desai
o

" art e
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(1) 10 femmer, 1996 ;
(2) 17awR, 1993 ﬁj
(3) 10 feEw=r, 1994
(4) 17mR, 1994
10

Which one of the following is not
the part of the principles of the
Panchsheel ?

(1) Mutual respect for
others territorial
and sovereignty.

Non-Aggression’ .
Non-Interference

Settlement of International
disputes by Arbitration.

each
integrity

@)
@)
(4)

The Veto Power in the UN' Security

Council was used for the first time
in which of the following context ?

(1) Withdrawal of foreign forces
from Syria and Lebanon.

(2) China’s intervention in Tibet.

(3) Entry of China as a member of
the UN.

(4) Blockade of Berlin.

In which of the following matters
of the UN Security Council, the
decision of Council require nine
votes including the concurring vote
of five permanent members ?

(1) Substantive Security

(2) Great Power Unanimity
(3) Flexible Unanimity

(4) Military Security System

The Trusteeship: Council
suspended its operations
which date ?

(1) 10 December, 1996
(2) 1 November, 1{-?93
(3) 10 December, 1994
(4) 1 November, 1994

has
from
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Arrange chronologically the names
of Secretary Generals of United
Nations according to their tenure :

A. Trygve Lie

B. Dag Hammarskjold

C. U.Thant

D. Kurt Waldheim

() AB,C,D (2 D,CBA
8 C,D,B,A () B, CAD

Which of the following statement is
not related to World Bank ?

(1) World Bank was founded in
1944,

The headquarter of World
Bank is situated  at
Washington D.C.

Originally- it was foundéd to
help developed countries.
In time the focus of World Bank

ghifted from Reconstruction fo.
* Development.

2)

@)

(4)

Which one of the following aspects
will be covered to study a cricket
match from sociological perspective ?

(1) Physical situations
(2) Cost-benefits
(8) Interaction patterns

(4) Management aspects

Which of the following path has
not been described by Alex Inkeles
in ‘What is Sociology’ ?

(1) Historical
(3) Analytical

(2) Empirical
4 Structural
a
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According to Durkheim, Sociology

has three main divisions. Which' of
the following is not one of them ?
(1) Social Morphology

(2) Social Physiology

(3) General Sociology

(4) .Social Statics

‘Society is a web of social
relationships.” Who has given this
statement ?
(1) Maclver
(3) Giddings

(2) Reuter
(4) Cuber

Which of the following is not the
basis of determination of ascribed
status ?

(1) Sex dichotomy

(2) Age difference

(3) Birth

(4) Political authority

Which of the following is rot a

characteristic of primary group ?
(1) Physical Proximity

(2) Small size

(3) Stability

(4) Limited Communication

Auguste Comte has mentioned
three stages of social change. Which
of the following is not one of them ?
(1) Metaphysical

(2) Instrum;ental

(3) Theological

(4) Positive

Which of the following factors is

not responsible for change in caste

system ?

(1) Western education

(2) Impact of modern means of
transport

(3) Impact of new occupations

(4). Jajmani relations
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. Who has given the theory of

Leisure Class ?
(1) Tawney
(3) Veblen

(2) Ginsberg
(4) Pareto

. According to Prof. Ghurye, which

of the following is vrelated to
meaning of Varna ?

(1) Colour (2) Caste
(3) Group (4) Scholarship

. Which of the following statements

is true about caste in India ?
(1) A caste is open.

(2) Caste hierarchy has ritual
basis. :

(3) A caste is an exegamous group.

(4) Membership of a caste 18
achieved.

. Who said “The prime cause of

poverty is exploitation of workers
by the capitalists” ?

(1) K. Marx (2) E. Durkheim
(3) R.Malthus (4) R. Gillin

T.K. Oommen has not mentioned
which of the following dimensions
of communalism ?

(1) Assimilationist
(2) Welfarist

(3) Separatist

(4) Particularist

. ‘Which one is not the contemporary

social problem of Indian society ?
(1) Communalism

(2) Terrorism

(3) Democratism

(4) Regionalism
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67,

89.

60,

61..

62.

Which one of the following is not
related - to the problem of
population growth ?

(1) Problem of AIDS

(2) Shortage of food

(3) Housing shortage

(4) Unemployment

K.M. Kapadia has not considered,
which of the following as an aim of

. Hindu marriage ?

(1) Moksha
(8) Rati

(2) Praja
(4) Dharma

When a newly married couple lives
neither with girl's parents, nor
with boy’s parents, but establish a
new household of their own, such a
family is known as —

(1) Patrilocal (2) Ambilocal
(3) Neolocal (4) Consanguine

How many Purusharthas are there .
in Indian society ?

(1) Two (2) Four

(3) Five . (4). Seven

Which of the following Ashrams
expect a person to leave home and
lead an ascetic life in forest ? ’
(1) ‘Brahmacharya

(2) Vanaprastha

(8) Sannyas

(4) Grihastha

Who was the editor of the book

‘Public Administration in a Time of J
Turbulence’ ? ) !
(1) ‘Dwight.Waldo ]

(2) Frank Marini
(3) Robert T. Golembiewiski
(4) William F. Willoughby
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~zRublic adnnmstratmn consists of

all those operations -having for
their purpose, ‘the fulfillment or
enforcement of Public Policy.” Who
said it ?

(1) Woodrow Wilson,

(2) L.D. White .

(3) W.F. Willoughby -

(4) Simon, Smithburg and Thomson

Which one’ of the following is not
an objective of the New Public
Administration ?

(1) Value (2) Change
(3) Ethics (4) Relevance
Which one of :the following

activities is not covered in the 'word
‘POSDCORB’ ?

(1) Policy Making
(2) Coordinating
(3) Directing t
(4) Reporting

¥

Which one of the followirig book. is
not related to F.W. Taylor ?
(1) Shop Management

(2) Principles of  Scientific .
Management
(3) General Principles. of

Administration °
(4) The Art of Cutting Metals

Who among the following is considered
as the father of ‘Behaviouralism’ ?
(1) David Easton

(2) Chester Barnard

(3) Herbert'Simon .

4) Robert Presthus ' *

Which' one of the following
thinkers introduced the concept of
‘Gang Plank’ in the organization ?
(1) Luther Guilick

(2) Lyndal Urwick

(3) Herbert Simoh

(4) Henry Fayol
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., Which * one of the following

activities s NOT an activity in
dec1s10n—mak1ng process stipulated
by Herbeért Simon ?

§3) Intt?lligence
(2) Design

(3) Choice

4 Feedrback

. Which of the following is not a type

of leadership as suggested by Mary
Parker Follet ?

(1) Leadership of position
(2) Leadership of personality
(3) Leadership of knowledge
4 Leaderéhip of function

Which of the following is the
correct sequence of the
communication process ?

(1) Sender, Medium, Message,
Receiver, Feedback ‘

(2) Message, Medium, Sender,
. Receiver, Feedback

(3) Sender, Message, Medium,
Receiver, Feedback

(4) Sender, Message, Receiver,
Medium, Feedback

. Which one of the following is not a

‘motivator’ according to Frederick
Herzberg ?

(1) Recognition
(2) Bonus
(3) Working Environment
(4) Achievement
03
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Which of the following was not
recommended by the First
Administrative Reforms
Commission (ARC) in India ?
(1) Council of Ministers should
have maximum 45 members.
(2) The post of Deputy Minister
" should be abolished.
(3) Personnel Department should
be established.
(4) All important decisions should
be made in writing.

‘Citizen-Centric = Adminjstration’
was the title of which Report of the
Second Administrative Reforms
Commission in India ?

(1) 12th (2) 13t

(3) 14tk (4) 15tk .

Who was the: Chairman of the
Second Administrative Reforms
Commission in India ?

(1) D. Subbarao

(2) C. Rangarajan

(3) LG. Patel

(4) M. Veerappa Moily

In which year the Second
Administrative Reforms
Commission in India was set up ?
(1) 2003 (2) 2004

(3) 2005 (4) 2006

Which was the first State to
establish the institution of
Lokayukta in India ?

(1) Bihar

(2) Uttar Pradesh

(3) Andhra Pradesh

(4) Maharashtra

According to  Lokpal and
Lokayukta Act, 2018 how many

members will be there in the

institution of Lokpal ?
(1) Five (2) Seven
(3) Eight (4) Ten
a
- 4 Ay
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When was the Right to Information
221: enacted in India ?

¢I) 01 dJanuary 2005
& 10April 2005

15 June 2005
% 18.July 2005

Vedas are also called

(1) Shruti (2) Smriti

@ Jatak (4) Tripitak

(ﬂ " is not considered as part of
-¥2das.

ﬁ") Mantra (2) Brahman

(3) Aranyaka (4) Dharm-Sutra

. ‘“That Thou Art’, implies

(1) Selfis a material substance.
(2) -Self and Brahman are non-
h"" dli'al:
Self is ultimately unreal.
Nothing is self-existent.

Ej;hics of Bhagwadgita is essentially
Tﬂ Deontological

(2) Hedonistic

(8) Teleological

(4) Utilitarian

The ideal accepted in Bhagwad-

Zila is

Arhat (2) Sthitaprajna
@By Bodhisatva (4) Tirthankar -
.%n theory of Syadvada implies

Y Ordinary judgements are
imperfect and present only

i an aspect of.reality.
i (2) Ordinary judgements . are

absolutely devoid of truth.
(3) Ordinary judgements express
skepticism,
* (4) Knowledge is not possible.
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" 86. I T¥l % I7FER, i 2 86, According to Jainism, ‘Nirjara’ is
- (1) = =15 6 3% o (1) Influx of Karmas towards Jiva
@ Eﬁwﬁﬁﬁﬁ‘mﬁm ' (g; gilztaihmentff)f.‘ Kgrmasfwzi;:h diva
@) w6 ¥ g | 3k g, ( o ;c; r?lgeJi?; i mtlux of Karmas
G B o g (4) Destruction of Karmas
| (4 98 g v wram s !ggﬁ attached to Jiva
87. SIgSHT H IR I Gl  WRRE IR | 87. The four Arya Satyas of Buddhism:
D) 'H&E:'@ I ((ilo) n%t i_ncludti o
) T SHT : niversal suffering,
@ 3@ &l (2) Suffering is uncaused.
@) gEfRaeEe | ] (3) Suffering can be removed.
4 g:@ﬁﬂﬂaﬂqﬁ%‘I (4) There is a path to removal of
: suffering.
88. -t grr a farg Wy @ 88. ‘Hind Swaraj’, by Gandhi is
(1) St 37 qﬁi 2 if” ol o (1) His Autobiography
2) . TR N y (2) A compilation of articles
e written in Newspapers.
i @) % Wﬁﬁ?-—l‘l\'ﬂ:ﬂﬁﬁ R (3) A presentation of his Socio-
J T Political ideas.
(4) 1947 T & WIET T 9y (4) An account of Indian freedom
1 I R ) struggle upto 1947,
Y ‘
89. mnﬂq;rﬁm o7 89. Gandhi believed in
(1) Rl of vor T 9l @ @ 6 (1) Attainment of Ends by .any
e means Ends and
(2) Purity of Ends and Means
(2) ‘HTW 3 et Y i . ] (3) Non-violence until oppressor
(3) e # S« 7% % Trenal T reports to violence,
T TART T e (4) Greatest happiness of the
(4) sHfrnan =il & srfem ga o greatest number.
90. YR & ITEN | 90. According to Socrates
(1) ST <Y Iy SR R 1 ' (1) V%rtue is %mpqssiblg to acquire,
@ WM ww ¥ @ Wa-Ra @ (2) Virtue 1is - inherited from
3 3 parents by birth.,
SRR &9 3 ST g d | (3) Virtue is relative and
3 W@m sihafedagma | changeable.
(4) FTAEEE | .. | (4) Knowledge is virtue.
1 .
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Socratic ethics is best

- characterized as

(1) Deontological Ethics
(2) Teleological Ethics

(3) Consequentialist Ethids
(4) Virtue Ethics

. According fo Descartes,

‘Interactionism’ explains

(1) The relation of God and Man

(2) The relation of God and World
(3) The relation of Man and Woman
(4) The relation of Mind and Body

According to Egoistic Hedonism

(1) Duty for duty’s sake is the
morality.

(2) Pleasure alone is the
standard of morality.

(3) Greatest happiness of the
greatest number i$ the moral
principle. !

4) Goodwill alone - 18
unconditiondlly good.

. According to Kant, Moral Law is

(1) based upon emotions and
feelings

(2) variable according to context
and place.

(3) a categorical imperative

(4) a means to higher ends.

Kant does not emphasise
(1) Duty

(2) Moral Law

(3) Freedom of agent

(4)" Consequence of action

03

Y|



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

%
/

96.

97.

98.

99.

03

S 1 9% Trgra o argam st =0t
TS I R & v ¥ Tor R v &

(1) s = sl Rigr
(2) <oz =1 frars fagr

(8) <= 1 gurwHs fgra lmsm
o]

(4) v % fus R ]

quiiE e % Wwem % gof §
Tefales § & 9 @ W wffe 5
frrmnd 7

(1) TS T o AT SHaER BT
(2) EHTH GRS T 37T

(3) W= i wisw i wa=nad =)
o

(4) S e =R BT

U % ARF Iewa & T H AR,
TR 98 <t A o Sviteg sl
Q) 9 - oY~ &~ ey -
ST — i '|
(2) T ~ Y — faveivor — Gyasw —
AT — Wt '
(3) I ~ W — WY ~ Rgewe —
(4 7 - A9 - Rweivor - y&@w7 -
mﬁw—u@m [

T~ 3fvew F @ Frefiea o
4 o8 wohR &% TE-wra gutaT & 7

(1) e (shfors) vg-wmry
@) sl us-gmsr

(3 TaEE-v=y |
(4 WE-TEEWE-TEY

21

98,

| 99,

GET IT ON
Google Play

-

'I"heory of punishment, according to

which criminal is punished for his

own good, is

(1) Retributive theory of punishment

(2) Deterrent theory of punishment

(3) Reformative theory of
punishment

(4) Preventive theory of
punishment

Which one of the following is not
included in the traits of social
science regarding its concept ?

(1) Dealing with human relations
(2) Study of contemporary society

(3) Study of the future problems of
the society

(4) Dealing with the art of living

According to Blooms taxonomy of

educational objectives, the

hierarchical order of categories of

cognitive domain is

(1) Knewledge — Comprehension
— Application ~ Analysis —
Synthesis — Evaluation

(2) Knowledge — Comprehension
— Analysis — Synthesis —
Application — Evaluation

(3) Knowledge — Application -
Comprehension — Analysis —
Synthesis — Evaluation

(4} Knowledge — Comprehension —
Analysis - Application -
Synthesis — Evaluation

The correlation of Civies with
History shows which ‘one of the
following type of correlation ?

(1) Vertical correlation

(2) Horizontal correlation

(3) Zero correlation

(4) Co-vertical correlation

|
p-—
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100, =1 fyemerh Reat % @y GRS R
F A I T 8
(A) Tifrr Toreal o wvag wfia
21
(B) ot # frwg % i T e
HATE |
(C) Tigar=mal 3 R Y G |
(D) ?ﬁﬁqmﬁmguﬁwﬁamm
1
T SR % e A Ry g 4
R :
.@:
(1) (A)zen (C) wE E |
2) (B), (C)aen (D) FHE |
@) A), BT ) FEE]
@ @), BT O) T

101, Wreer Fifty ot R fora 8 -
(1) = frerigs
2) faftran eewg, ue. Rl
@) 3T, Fradigs
(4) T S I TSt

102, Brafafem & @ =W & fagor &
e Ry % sRrmeRdletl # AHRkES
Hrrerar TF i bRk R w6
I e ?

(1) =mEEE i

(2) wiea et il
(3) EF HY

(4) wweEr g Rl

. 100. Advantage of correlation of Social
Science with other school subjects is :

(A) To establish the coordination
in different subjects.

(B) To create interest in_students

’E{% toward the subject.

(C) To increase curriculum load.

(D) To develop social traits in
students.

Select the correct answer from the
codes given below : .

Codes :

(1) (A) and (C) are correct.

(2) (B), (C) and (D) are correct.
(3) (A), (B) and (C) are correct.
(4) (A),"(B) and (Di are correct.

101. Project method is developea by
(1) John Kilpatrick ]
(2) William W.H. Kilpatrick
(3) David A. Kilpatrick
(4) Robert Ballard John Dewey

102. Which « one of the following
teaching  method  helps in
| development of mental ability and

social science ?

(1) Lecture Method

] (2) Socialized Recitation Method
(3) Story Telling Method

(4) Problem Solving Method

22 03
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103. Wﬁﬁﬂm?ﬂmﬂaﬁ@@ ILIOS Which teaching method develops

104.

105.

106,

107.

03

Tt o, oo wewn aﬁtm
wmwﬁmmmﬁaﬁﬁﬁrwqa%%

(1) apirs s
(2) &y

(3) Yyt fate

(4) wfwres SteH

ﬁmﬁﬁaﬁ%ﬁnﬂﬁmwm
Wi H 5o U g QAT ] 7 '
(1) wamag (2) 29 et
(3) A (4) b o

@m%ﬁwﬁm3@W%fwamﬁ

<n?mﬁﬁﬁ
(2) iR Tefiepi i

(3) TOUE TF SIS S
(4) e WrlgRi =l

3Lr

B

8 SR T T I g ER Y
o A HE ST W W € 79 B
zﬁﬁmmma@%mmm
ERCIiN U

(1) =

(2) whowm ies)

@) gRfAEE

@) s

S1T——301

3016

gt IrgaEal ) FRaEn (JTEY), 2005 %

AR TS foe = R s §
T A R |

(1) g () g |

(8) ST (@ i l,

23

I]%

[~
1]

107,

. Which

higher cognitive abilities like
reflective thinking, creative
imagination and problem solving
in learners ?

(1) Social Recitation

(2) Field Trips

(3) Role play

(4) Brain storming

one of the following
teaching aid is both audio and'
visual in its nature ?

(1) Blackboard

(2) Tape-recorder

(3) Television

(4) Magazine pictures

. According to Edgar Dale the base

of the ‘Cone of
represents :

(1) Visual symbols
(2) Verbal symbols,

(3) Direct and purposeful
experiences

(4) Dramatic participation

experience’

6. When it is not possible to use real
objects in class due to its larger
size then which teaching aid can be
used best in place of that object ?
(1) Chart

(2) Model

(3) Bulletin Board

(4) Photos

According to National Curriculum
Framework, 2005, a social science
teacher acts as in the class,
(1) Facilitator (2) Dictator

(3) Narrator (4) Friend
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108. ®.#A. 75 % IgEw, P & ¥ wA @
XTI 1 bR TRl & 7

(1) <EaT Hisa TEawa
- (2) T HiRE v
(@) I B T
(4) wET=iG GHme

109. Preriiea 3 & S 71 A fome A
yrgwaat faio o Rigra i g ?
(1) 3Irtvsren % fag=
(2) w1 g
(3) W ofia & Ty i e
(4) GuRAT S g

110. Preffen Rreed ¥ wed ¥
TR I F 9IS e IHGHA I
W‘mplﬁﬁ:

(1) SRR — §EY — IR —
| ST — SFErEAT ,
(2) WEAET — TEH - NEg

111, Preifeifaa I & wi o fieres g s 3§
S SR A ?

Q) TR AT (2) i A
(3) WIS AlSHT (4) forener G

|

24

2

108. According to CV Good, which one
of the following is not a type of
curriculum ?

(1) Competency centred curriculum
(2) Subject centred curriculum

(3) ’ Experience centred: curriculum

(4) Correlated curriculum

109. Which one of the following is not a
principle of curriculum
construction of Social Science ?

(1) Principle of motivation
(2) Principle of flexibility

* (8) Principle of relationship with
community '

-(43‘ Principle of segregation

110. Select the appropriate logical
sequence of Herbartian approach
of lesson plan among the following
alternatives :

(1) Presentation — Association —
Generalization — Application
— Introduction

(2) Introduction — Association —
‘Presentation -
Generalization — Application

(3) Introduction — Presentation —
Association — Generalizajion —

~ Application

(4) Generalization — Association —
Presentation — Application —
Introduction

111. Which one of the following is
actually a plan of action in the
classroom by the teacher ?

(1) Monthly planning
(2) Yearly planning
(3) Lesson planning
(4) School planning

03
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112. Al g Ry & oo symm

i

113.

114,

115,

116.

03

fr=foRes # @ w7 @ = (4g) gfke
TR ?

(1) T (@) (2) SR

(3) e @) ffmiwo
T TR < ToaT ST & 7 ”
(1) 5558 T d vgst

(2) Trgror-svitem whrr &
(3) T TR F Ul SR

(4) A=l w1 F g i

= & @ 3 o = e < Rdivar
TWE?

(1) Tavasdiaar

(2) Swm ||
(3) Tt

(4) Tvatar (=fwtsa)

T 3 @ b o Prerarerss were % adtemy
R ¢

(1) 31 6 =yfefsar

@) Foind smarh

(3) =t = stimem

(4) 19T OE e BT i

i fem § Pefem § @ 2R | 116,

THR % Ther § BE % e o
T T S i % ey SEa e
g7

(1) SgRmeaT®r

(2) T THR

(3) =egie yFR

4) FEuas TR

]

" 112.

113.

114,

115.

Which one of the following step is
not included in unit approach
given by the Morrison ?-

(1) Exploration (2) Presentation

(3 Organization (4) Specification

When is
conducted ? )
(1) Before teaching a new unit

formative evaluation

(2) During teaching-learning
process

(3) After  completion of a
programme

(4) At the end of academic session

~Which among the following is not a

characteristic of a good test ?
(1) Reliability

(2) Validity

(3) Discrimination

(4) Subjectivity

Which one of the following is a
limitation of essay-type test ?

(1) Subjectivity in scoring
(2) Easy to construct
(3) Assessment of expression

(4) Evaluation of thinking and
Imagination

In Social Science, which of the
following type of tests have greater
scope of evaluating student's
critical and independent thinking ?

(1) Multiple-choice type
(2) Selection type

(3) Objective type

(4) Essay type
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117. weiw oA gt sf@st § 8w | 117, Which of the following words is
ey % o B A | 9w I e used for the Indus Civilization in
EW% 9 the Sumerian Inscriptions of

1 ) - Sargon era ?
(1) &g - (2) T lgem (1) Dilmun (2) Magan
@) (4) Hga |52 (3) Nippur (4) Meluha
118, Fwafees 1er § B W1 AT I8 F W | 118 Which deity is called the GOD of
HE TR ? war in the Rigvedic period ?
(D). & @ Frg (1) Rudra (2) Vishnu
@) s @) % 3) Agni ) Indra
119, FE-FHRUERE H 9Ig FEuRT e s | 119 Tlicla Euddhist theory of causality is
I called —
(1) mﬂam AR (2) Seifs Aw g) Eriiltitya garg&ltgad
(3 g9 4) IFHERE ) Ashtangika Marg
@) @ ¢ ) ES) ﬁya Satys(z:1
4 atmava

120. W S ) # frfafea § 4 ®F m. 1240. Ip) the M:uryan administration,
FAftrmTlt M < T S SRt Himiadt which of the following officer was
Frafo w@ % forg g o 2 responsible for land measurement
(1) TF Q) &% and fixing their boundaries ?

TR 4) T (1) Yukta (2) Rajjukas
@ @ ] (3) Pradeshikas (4) Gramika
121, feffaa F A P m Re@a 2@ 2 ¢ | 121, Which of the following is the
(1) e @) F=8 largest Chaitya ?
: e (1) Karle (2) Kanheri
(3) ¥ @ (3) Bhaja (4) Bedse
122, Si=fafiga weEl &1 STERe T 3R | 122, Read the following statements and

;ﬂ%ﬁq’ﬁﬁﬁﬁmﬁﬁqwz choose the correct option from the
) . - below :
() $S TH MEH WaH R % 3 (a) Few Gupta Kings were
a1 * ] worshippers of Lord Shiva:

(=) a3 e e & fog R
A R S S |
@) T Tenait 3 Rt ol el S

©

(b) Idol worship in the temples

became a common feature of
Hinduism from Gupta period.

Gupta Kings followed & policy
ifey wifersugen <A <A <hr e R | of tolerance towards the
(1) STIE | différent religious sects.
@ @ IEad; @), @ T (1) All are true.
. (2) (a)is false; (b), (c) are true.
@) @), (@ FTTE; @ EIR 3) (a), (b) are false; () is true.
- (4) f sEAE | (4) All are false. ,
= B 26 03
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123.

124,

125,

|
BRI e digm F w A g efi— | 123, Brihat Samhita of Varahmihir was

1 ‘ﬁiiﬁ‘-ﬂaﬁﬂﬁ . composed in
W 5 ) (1) Fifth Century
@) =& ; (2) Sixth Century
(3) el oy, o 0 (3) Third Century B.C.
(4) wo e €., § 'E‘E"’fg% (4) First Century B.C.
[} .
ﬁnﬁéﬁqg&qﬁwmm ? 124. Who among the following was the
- founder of Pushtimarg ?
1) ™ 2) <= | &15 gﬁrqas
. : aitanya
(3) FER (4) TR (3) Vallabhacharya

(4) Ramanand
BT AA-EN W I w@H $T | 125. Who was the author of the book

o7 7 ‘Kasf-al-Mahjub’?
! (1) Al-Hujwiri
(1) 3 gefd 2) v ga (2) Anmir Khusrau
* (@) NEEERER (4) At e (8) Ziyaunddin Barni

126.

127,

128,

03

(4) Malik Muhammad

o AEE AE & e e wem i|| 126. Which of the following was the first °

A A A SR Ee ¢ building constructed during the
(1) T T aa time of Mughal Emperor Akbar ?
(1) Humayun’s Tomb
2) FNEIENE I Tohat

@) (2) Allahabad Fort
(3) Gi. [TR1R < Hee | (3) Jodha Bai’s Palace
(4) T=HET (4) Panch Mahal
Rt 3 Frafafes § @ R aer WH@ | 127. Shivaji conquered Javli from which
| el R e w6 7 of the following Maratha Chiefs ?

. " (1) Santaji Ghorpade
(1) BAAEEE  (2) T e " (2) Dhanaji

‘ ji Jadhav

(3) TZWAR  (4) F=Pi gfvm + (3 Chandra Rao,More

(4) Melgiri Pandit

1857 %t T < R o # $eX | 128. Who led the rebels after the. death
RE 6 ¥ I it @ of Kunwar Singh in Jagdishpur
e ﬁ,—gg ﬁqﬁ l during the 1857 Revolution ?
: . | (1) Chakradhari Singh
QO wEmitiE (@ adiRE | (2) Arjun Singh
THR 4 : | (3) Maniram Dutt
® « @ v g (4) Amar Singh
27 a
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1890 %. T wewar § WG T HHd
¥ ©ad IR 6t oreaeE fFE R ?
(1) o faforem dewd

(2) TR dgar

(3) wiet g

(4) TS Tl

1917 §. ¥ wivewy Y YgRep wwonm &
Wie BATEH AT ) Foras THM o ?
(1) whageq

~(2) =rer TR o 4

@) Th 9= U F@ TR e
LR
(4) <% SuREIA

FTEEANT % U W T B & g et
1920 §. ﬁa@ﬁam%ﬁﬁwmﬁ
areaera fEa < o 7

(1) ITer e T

(2) Taftregu=a

(3) Tidiee T

(4) TreErEEER

g e FEEE % e e
e % Agel efafew d @ e
fepan 2

(1) whea=
(3) TER I

(2 Wi g
(4) AdeTEAEs

T Biel SR % QU TG amiad
T GBI R AT i o ?
(1) %4, Farh

(2) SR

(3) Trmad sEmg

(4) e =g T

o

129.

130.

13 I.

132.

133.

Who presided over the sixth
session of Indian National
Congress of Calcutta in 1890 A.D. ?
(1) Sir William Weddurburn

(2) Feroze Shah Mehta

(3) George Yule

(4) Dadabhai Naoroji

Who dropped the Home Rule

Movement, after the historic

declaration of Montague in 1917

AD.?

(1) Annie Besant

(2) Bal Gangadhar Tilak

(8) Both Annie Besani and Bal
Gangadbar Tilak

(4) Joseph Baptista °

Who presided over the special

session of Congress, held 1in

September 1920 A.D. to discuss the

issue of Non-Cooperation ?

(1) Lala Lajpat Rai

(2) Bipin Chandra Pal

(3) Motilal Nehru

4) Yijayaraghavachari

Who among the following led the
Dharasana Satyagrah during Civil
Disobedience Movement ?

(1) Annie Besant

(2) Sarcjini Naidu

(3) Sardar Patel

(4) Motilal Nehru

of the
Sarkar,

Who was
Tamralipta

the leader
Jatiya

established during Quit India

Movement ?
(1) K.C. Neogy
(2) Chaitu Harijan
(3) Zia-ud-din Ahmed
(4) Satish Chandra Samanta
03

i

H
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134,

135.

138.

139.

03

AR Y- i e ? 0

136.

137.

I TaIaT AT & et aTRiTE it
TR W B e fred ﬁg?ﬁ
fomar 7

(1) T A iy &

@) e aaddm =gy e
3) w3 B
(4) et werdidi it 3

%i9 <! T v Y RS yeae W ams | 135,

(1) R
(3) wHRE

(2) ey
(4) I

i SR & 90°ammmqt¥[zfﬁ
TorTont <61 ST79e hior @ B 7 |
1) 0° (2) 47°

(3) 66° 30’ (4) 23° 30

HR-Aveer €T % w1 A @
(1) HEHAS STEa !
(2) SEHE srEaa
(8) e arEan
(4) HiERifes s

Fefafea d R s ar el @i @ ¢

(1) i RerAwE |

(2) Wi Rigs @I )

(3) T=HN IW Y I 1R | fRR !
TR | |

@) s arR e d R g |

Waq %ﬁﬁfﬂ%wwm? i
(1) SSragE = Tl sgieT |

(2) HEITwR

(3) Frghrivm yor$ sgma

@) Taferrm wehr % seremyet sTm

| 134. Who
‘Washington as the Commander of

136.

' 137.

138.
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-appointed General
the Continental Army in American
War of Independence ?

(1) First Continental Congress

(2) Second Continental Congress
(3) Continental Army

(4) Third Continental Congress

On whose proposal the National
Assembly of France issued the
Declaration of Human Rights ?

(1) Mirabon (2) Obais

(3) Lafayat (4) Vel

On winter solstice, what will be the
angle of incidence of Sur’s rays at
90° south ?

@) o° (2) 47°
(3) 66° 3¢ 4) 23°30
Core-Mantle boundary coincides

with

(1) Transition discontinuity
(2) Lehman discontinuity
(8) Gutenberg discontinuity
(4) Mohorovic discontinuity

Which of the following is NOT

correct ?

(1) Atlantic is widening.

(2) Pacific is shrinking.

(3) The magnetic north pole is not
fixed.

{(4) Red Sea is shrinking slowly.

. The Deccan trap regibn was formed

due to
(1) Fissure
eruption
(2) Central eruption type
(3) Visuvisian type eriiption
(4) Pelean type volcanic eruption
a

type voleanic
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140, GOUSH 1 JARIT: m&m% - | 140, Homosphere largely includes
) . . F “r (1) Exosphere, thermosphere,
(1) sfeds, aTed, AT ionosphere ' 1
(2) @i, GHAITHSH, SRS (2) Troposphere, stratosphere,
L . ionosphere
(3) TS, TS, AT (8) Troposphere; thermosphere, |
TATIHE, TeHEd, e ' ionosphere
@ ’ ’ i‘E B (4) Stratosphere, mesosphere, j
sEiﬁ troposphere F
141, T H! T qt,, & IIE R 141. How much solar energy reaches |
fepeeft o Sl el & ¢ t earth surface directly or indirectly ?
(1) 42% (2) 51% (1) 42% (2) 51%
(3) 65% (4) 35% (3) 65% (4) 35%
142, BreRrfiaa 3 & nior 3 afeki T H ST | 142, Which of the following are included
2 7 49 fom 2§ 9 SR S W in precipitation ? Select the correct
i : answer from the codes given below :
(A) TR B) famaut (A) drizzle | (B) snowfall
(€) ast D) T (C) rainfall (D) rime
H2: Codes :
(1) Fae (B) @41 (C) (1) (B) and (C) only

(2) (A), (B) and (C) only
3) (4), (B), (C) and (D)
(4} (A) and-(C) énly

(2) F (4), (B) 71 (O)

(3) &), B), )T D)
(4) e (A) @ (C)

143, PFrefifea 1 SR S ENEIE 7 | 143. Which of the following is a cold

(1) weie SRl . current ?
(2) ASS TR | (1) Brazil Current
(3) S SeUTT - (2) Labrador Current

(3) Antilles Current

) (4) Mozambique Current
144, Frfifed § 4 = o wawer Bfa s | 144, Which of the following coral reef is
Heg ol AR A B ] 7 longest and widest in size ?
(1) i (1) Faros
(2) oo vaTE Ay : ] (2) Fringing Reef

(3)” WaTEt gIgactd [ TE (3) Atoll
(4) IR yae il (4) Barrier Reef /
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146.

147,

148.

14 9.

150.
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SRE wn F omRE e 7

1) b, ot B ymlel
HAATIATE, IIETETE

@) sTweTd, TARE o wmdEt |
qreEre, Mol

‘(3) TRET H g, aﬁgﬁ

e, Hief Y
) Tt f i, s,

Hiafir, rereme ¢
~J
Pm’ﬂ%aﬁafém—trﬁ%mwﬁaﬁmq

T TE R SR 7
(1) A=y (2) %mumicg
(4) trﬁ%mﬁma

(3) a»—'twaﬂtw
IRrg WE Semue fhg q?ﬁ‘% iy
TR 7

(1) et (2) mﬁaa
(3) 1 (4) ST
fr=iifes # @ = € gg1 o S5
wmﬁﬁma"lﬁﬁ'& Bites g
ﬂﬁﬁmm%wmﬁ‘@ aﬂtcfgﬁﬁaﬂ
FraEftani g 7
(1) Hegg 2) mqw
(3) AT T (49 T=F7q
Pt 5 @ 9 1 gt 99 3@ e
mwﬂﬁw %mﬁmw% ?
(1) FFR 2) ﬁﬂﬂ‘ﬂgg
(3) P (4) TET A

~J
HITTEd 6l TETReT srafem § i
(1) Seied (2) IR H
3 wwid (4) "

=)

EEm
5o

31
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Which of the following is correctly
arranged from south to north ?

(1) Nilgiri,  Cardamom hills,
Annamalai, Palghat

(2) Annamalai, Cardamom hﬂls,
Palghat, Nilgiri

(3) Cardamom hills,
Palghat, Nilgiri

Annamalai,

" (4) Cardamom hills, Annamalai,

Nilgiri, Palghat

In which region maximum rainfall
from South-West Monsoon is
received ?

(1) Malwa Region

(2) Thar Desert

(3) Rann of Katch

(4) Western Ghats

Which of the following river makes
famous Gersoppa falls ?

(1) Sharavati (2) Kalinadi
(3) Bhadra (4) Vaitarna

Which of the following soil is rich
in iron oxide and aluminium
compounds and lack lime and silica
due to heavy leaching ?

(1) Peaty Soil (2) Red Soil

(3) Laterite Soil (4) Arid Soil

. Which of the following Cotton

Textile Centre is known as
“Manchester of Uttar Pradesh” ?

(1) Kanpur " (2) Modinagar
3) Agra (4) Lucknow

Malkhet hills are located in
(1) Jalore (2) Alwar
(3) dhunjhunu (4) Sikar
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